Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

1.00

0.10

0.01

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

1709-267-PCA-2962-MJD52312.05004_Ic.txt / MJID 52312.050013 / burstid=2962

= . Grey line: exponential fit Peak flux: 0.672+/- 0.014 c/s/lcm? =
C A Black line: power law + gauss fit Fluence : 5.21+/- 0.06 c/cm? ]
B \ Dashed line: power law Duration 2'2 374/ 1 06 s 7
\ . . = .
I \ Best fit model: 1. n
- 1 W Best fluence model: 1. ]
- M} Best duration model: 1. =
u AN :
B RN ] 2
H ~ }[ }[

g A 1
? ) “ il | ;“ \“ ‘ ‘ N T : | ) \‘ | “ : ‘ L il : . 7?
= 17 LA L) O T
: A S
o 1110 1.l Y
; Exponential fit é
- Expon.time: 6.97+/- 0.38 s (chi*-red= 5.63) J
= } =
= + —
- * + b o Wty b e
SETI ol b S Ry e
= ”MHMW WﬁwHﬂHﬂ#ﬁﬁ**Hwﬂﬂww*ﬂ g e i w* ! TR R *%WWﬁwﬁ%
= + =
:' T J( T T T T T T T T T T T T T T T T T T T T T :
= Power law fit + =
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